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MoscHMTeNbHas 3anucKa.
ObyyeHue CTyAEHTOB MHOCTPAHHOMY fA3bIKY B CpeAHEM CneunasibHoM y4ebHoOM 3aBeaeHUM
ABNAETCA AOCTUNKEHNE MMM NPAKTUYECKOrO BIAAEHMA 3TUM A3bIKOM,
4TO NpegnonaraeT NPu 3a04HOM 0by4eHnn GopmMMpPOBaAHNE YMEHMA CaMOCTOA-
TENbHO YMTATb INTEPATYPY MO CNELMANbHOCTU C Le/bto U3BaedYeHna nHdopma-
Uumu.
Mporpamma paccuymtaHa Ha paboTy Co CTyAeHTaMM, N3y4aBLLUMMU MHOCTPAHHbIN
A3blK B 06bEMe cpeaHero (nonHoro) obuiero obpasoBaHms.



MeToauueckune yKasaHMA NO BbINOSIHEHUIO KOHTPOJIbHbIX 3ap,a|-mi’1

B cooTBeTCcTBMM € y4eOHBIM NNAHOM CTYAEHTbl — 3a04YHMKM BbIMONHAOT KOHTPOIbHOE 3343Hne
Nel n KOHTpOAbHOE 3agaHne Ne 2.

KOHTpOl’IbeIe 3a4aHNA npeagnonarakoT YyTeHne n nepesos CtTya4eHToOM TEKCTA Mo
cneynanbHOCTU U BbINO/THEHNE TPAMMATUYECKUX 3a,c|,aHm71.

CTyAeHTam HyXHO BbINONHUTb KOHTPO/IbHbIE 33aHMA B COOTBETCTBUM C NOCAeAHUMU Lndpamm
cTyaeHYecKkoro wudpa: sBapuaHT Nel, ecam wndp 3akaHumBaeTca Ha umopsbl: 1,2,3,4,5, n
BapuaHT No2, ecnim wndp 3akaHUMBaeTcs Ha umdpsol: 6,7,8,9.0.

- BbINONHATL Kaxgo0e KOHTPO/IbHOE 3afaHune cneayeT B OTAeNbHOM TeTpaan. Ha obnoxkke
TEeTpagmM AOMKHbI 6bITb GaMUAKNA, UMA, OTYECTBO CTYAEHTa, WKdp, HOMEP KOHTPObHOM
paboTbl.

- KOHTpO/IbHblE 3a4aHNA A0/IXKHbI BbINONHATLCA aKKYPaTHO, YETKMM noyepkom. Mpwm
BbINOJIHEHMM pabOoTbl CiefgyeT OCTaBAATb B TETPAAM LWMPOKME NOAA A4 3aMeYaHni,
0O6BACHEHUIN N METOAMYECKUX YKAZAHUIA.

- MaTepuan KOHTPO/IbHbIX 334aHWUI cnesyeT pacrnonaratb B TeTpagm no cnegytowemy obpasuy:

JleBasa cTpaHuya MpaBada cTpaHuMua

none AHINIACKUIA TEKCT Pyccknit Teket none

- Cobntoaatb NOPAAOK BbIMONHEHUA TPAMMaTUUYECKMX 3a4aHNNA.

- MncomeHHbIN nepeson TEKCTa Aen1laTb NO NpeanoXeHnam, nepenncobiBan aHTMNACKMeE
npeanoxXeHuma.

McnpaBneHMe KOHTPO/IbHbIX 3ap,aHMi'1:

- Mpu Nony4eHnmn oT peLeH3eHTa NPOBEPEHHOIO KOHTPOAbLHOTO 3agaHna Nel, BHUMATENbHO
npoynTaiTe peueH3nio, 03HAKOMbTECH C 3aMeYaHUAMM.

- Bce npegnoxeHuAa, B KOTopbixX 61K AonyLweHbl OLWKNBKN UMM HETOUYHOCTH npu nepesoae,
nepennwnTte B UCNpaBaeHHOM BUAE.

- OTpeueH3MpOBaHHblE KOHTPO/IbHbIE 334aHNA ABNAIOTCA Y4eOHbIM OKYMEHTOM , KOTOPbIN
HeobXxo4MMO COXPaHATD.




CneumnanbHOCTb: « DKOHOMUKA U ByXranTepcKum yuéT».
KoHTponbHas paboTta Nel
BapunaHTt 1

1. NepenuwuTte cneayrowme npeanoxeHua. Onpegennte nNo rpammaTUYECKUM MPU3HaAKaM,
KaKOM YacTbio peymn ABAAKOTCA C10Ba, 0POPM/IEHHBIE OKOHYAHMEM —S U KaKyto GYHKLMIO 3TO
OKOHYaHME BbINOMHAET, T.€ CIYKUT 1N OHO:

A) nokasaTtenem 3-ro aMuUa eANHCTBEHHOTO YMcna B Present Indefinite;

B) Np“3HaKOM MHOKECTBEHHOTO YACNA UMEHW CYLLLECTBUTE/IbHOTO;

B) nokasatenem npuTAXKaTeNbHOrO Maferka WMMEHW cyllecTBuTenbHoro (cm. obpasew,
BbIMONIHEHMA 1).

MepeBeguTe NpeanoXKeHUA Ha PYCCKUI A3bIK.

1. Tallinn exports a great variety of goods.

2. Last month my friend read a very interesting book on Tallinn’s history.

3. The inhabitants of Tallinn are fond of their city.

2. MMepenuwute cnegyowme npeaNoKeHUs, cogep:kawme pasHble GoOpmMbl CpaBHEHUA U
nepeseauTe UX Ha PYCCKUI A3bIK.
A) Kadriorg is one of the most favourite parks of the Tallinners.
B) The more | thought of that plan, the less | liked it.
B) Your translation is better than mine.

3. MNepenMwnte M NUCbMEHHO MepeBeaUTe MNPEen/IOKEHMA Ha PYCCKMM A3blK, obpautan
BHMMaHMeE Ha NepeBos HeonpeaeneHHbIX U OTPULATENbHbIX MECTOMMEHMUIA.
A) Some 350 people attend a yachting school in Tallinn.
B) Does he know any foreign language?
B) Any exhibit of this museum is valuable.

4. MepenuwuTe cnegyowme MNpPeanoOKeHUs, onpenennte B HUX BUAO-BpeMeHHble $Gopmbl
rNarofoB M yKaxuTe MX UHOUMHUTUB; nepesBeguTe NPeasiOKEeHUA Ha PYCCKUIM A3bIK (CMm.
obpa3seu, BbINONHEHUA 3).

A) One of Tallinn's farmacies function for more than 550 years.
B) The construction of the Tallinn Town Hall began in the first decades of the 14 century.
B) In two years my brother will become an engineer.

5. TMpouuTaliTe U yCTHO nepeBeAuTe HA PYCCKMIM A3bIK € 1-ro no 4-bii ab3aubl TekcTa.
MepenuwunTe N NUCbMeHHO Nepeseante 3-uii 1 4-bin ab3aubl.



TALLINN

1. Tallinn is the capital of Estonia. It is an industrial town. Half of all the industrial products
of the Republic comes from Tallinn’s enterprises. They produce a great variety of articles
such as electric motors, electrotechnical equipment, furniture, skis, toys, fabrics,
perfumes, drugs, sweets, tinned foods, etc. The industrial output of Tallinn's enterprises
increases steadily. This increase in the results of high labour productivity due to
mechanization, automation and the application of modern technology.

2. Tallinn is an old city. It retains many features of its architecture and landscape and its
cosy atmosphere. The streets of the Old Town are very narrow, the buildings are
ancient, many of them date back to the 15" century. Nowadays they have all modern
conviniencies and house museums, theatres, shops and restaurants. The Old Town is
the seat of the Republic's government, several Ministries and the Presidium of the
Academy of Sciences. The area of the Old Town makes up less than one per cent of
Tallinn’s territory.

3. Thousands of Tallinn's residents live in new districts. Each of them has attractions of its
own: one district borders on thick pine groves, another faces a lake, a third offers a
magnificent view on the Guif of Finland. The district of Mustamae is one of the youngest
in the city. AlImost a quarter of Tallinn's population resides in the district. At Mustamae
there are two institutes: the Tallinn Polytechnical Institute and Sciences of the Estonian
S.S.R. There are also numerous schoolhouses, kindergartens and service centers there.

4. Tallinn has Europe’s Gold Medal for preservation of architectural relics. Perhaps no
other city of Northern Europe preserves the beauty of its past so lovingly. With its
charming mixture of the old and the new Tallinn creates an unforgettable impression.



KoHTposbHasa pabota Nol
BapuaHT 2

MepenuwuTe cneaywowme npeanoxenus. Onpegennte nNo  rPaMMATUYECKUMM
NPWU3HaKam, KaKoM 4acTblo peyn SIBAAKOTCA C/I0Ba, 0GOPMIEHHbIE OKOHYaHWEM —S U
KaKyo QYHKLMIO 3TO OKOHYAHME BbINOHAET, T.€. CIYXKUT 11 OHO:
A) nokasaTtenem 3-ro AnuUa eanHCTBEHHOTrO Yncna B Present Indefinite;
B) NpM3HaKOM MHOECTBEHHOTO YNC/1A UMEHMW CYLLLECTBUTENLHOTO;
B) noKkasaTenem npuTSXKATeNbHOrO MazeXa MMeHM cyliecTBuTenbHoro (cm. obpasel,
BbIMONHEHMA 1).
MepeBeguTe NpeaNoXKeHUA Ha PYCCKUI A3bIK
1. The «Big Ben» clock weighs 13.5 tons.
2. Most of London’s places of interest are situated to the north of the river Thames.
3. Hyde Park covers 360 acres.

MepenuwunTe cneayoume NpeanoXeHus, cogepxawme pasHole GOpPMbl CPaBHEHUA U
nepeseauTe UX Ha PYCCKUI A3bIK.

A) One of most famous buildings in England is St.Paul’s Cathedral.

B) This room is smaller than that one.

B) The longer is the night, the shorter is the day.

MepenuwunTe U NUCbMEHHO NepeBeauTe NPeAsiOXKEeHMA Ha PYCCKUIM f3blK, obpallas
BHMMaHMeE Ha NepeBos HeonpeaeneHHbIX U OTPULATENbHbIX MECTOMMEHWIA.

A) At some of the London Underground stations there are lifts, others have escalators.
B) Any student of group can speak on the history of London.

B) No park in London is as Hyde Park.

MepenuwunTe cneayowme NpesioXKeHUs, onpeaenmTe B HUX BUAO-BpeMeEHHble GopMbl
rNarofoB N yKaXknte ux MHOMHUTUB; NepeBeanTe NPeasoKeHUs Ha PYCCKUI A3bIK (CMm.
obpaseL, BbINosHeHUA 3)

A) This student first came to Moscow in 1985.

B) The Port of London is to the east of the City.

B) In a few days she will leave for Leningrad.

MpounTanTe M yCTHO nepeBeamuTe Ha PYCCKUIM A3blK ¢ 1-ro no 8-oi ab3aubl TeKcTa.
MepenuwunTe U NMCbMeHHo nepeseauTe 1, 2, 3-uii ab3aubl.

LONDON
1. London is the capital of Great Britain. It lies on the South East of England on both
banks of the river Thames. London is one of the largest cities in the world and the

largest port and industrial town in England. London is more than twenty centuries
old.



The heart of the capital is the City. The territory of the City is only about one square
mile, but it is the financial and business centre of the country. It contains almost all
important English banks and offices.

The West End of London is famous for its beautiful monuments and palaces, fine
parks, fashionable shops and big hotels. The East End is quite different from the
West End. It is the district of factories, plants and docks. The narrow streets and
poor houses of the East End present a contrast to the homes of the rich people in
the East End.

There are many places of interest in London. One of them is Trafalgar Square with
the Nelson monument 185 feet high. Buckingham Palace is the royal residence.
Westminster Abbey is one of the most beautiful buildings in London. It contains the
memorials of many famous citizens of Britain.

Across the road from Westminster Abbey are the Houses of Parliament, the seat of
the British government.

The Tower of London is one of the most interesting places in London. It was a
fortress, a residence, a prison, now it is a museum.

London is famous for its green parks. Hyde Park is the most popular of them. It is
greatest park in London as well.

London is the centre of the country cultural life. There are many picture galleries
and museums there. The famous British Museums is one of the best museums in the
world. In the library of the British Museum Karl Marx at his «Capital», V.l. Lenin
worked there too. There he gathered the material for his work on «Materialism and
Empiriocritism».



KoHTposbHasa paboTa N2
BapuaHT 1.

|. NepeBegnTe NPepNOKEHNA HA AHTIMACKMIA A3bIK, UCNOMb3yA FNaron — cKkasyemoe B Past
Continuous.

1. Buepa B NATb YacoOB BeYEpa A YMTAN raseTy.

2. B BOCKpeceHbe C AByX A0 YeTblipex Mbl paboTanu B caay.
3. B cy660Ty Beuepom A nucasa NnMCbmo.

4. Mbl cmOTpenu Tenesnsop, a OHKU caywanum pagmo.

5. Bo Bpema ob6ega moit nana Yntan rasery.

6. NATb MUHYT Ha3aZ MoOW Apyr cnan.

[l.3aKOHYMTE NpPeaNoXKeHMA yNoTpebmB HyKHble NO CMbICAY COBa.
1.The United Kindom consist of...

2.The British Parliament consist on....

3.The Great Britain is situated on...

4.The British Isles are washed by...

5.The Queen’s rights are linited by...

6.The population is...

7.The climate of the British Isles is...

8.London stands on...

9.The famous forest is...

[ll.3anonHuTe nponycku rnaronamu B Future Continios:
1.He...a test at 10 o'clock tomorrow (to write)

2.In the eveningi...homework (to do).

3.When you enter the room my sister...(to write) the letter.
4. Tomorrow at 20 clock we...9to readO that book.
5.We...(to wait) for you at the cinema.

IV.OTBeTbTE Ha BoMnpockl No Teme :The USA.



1.There is the USA situated?

2.How lar ge is its territory?

3.What oceans is the USA washed by?
4.What countries has the USA border with?
5.What are the highest mountains?

6.What rivers of the USA can you name?
7.Who is the USA Presedent now?

8.Who was the 1'st Presedent of the USA?
9.How many states does the USA consists of?
10.What is the symbol of USA?

V. OTKpoiiTe cKOBKK, ynoTpebums rnaron- ckasyemoe B Present Perfect Active:
NepeBeauTte NpeanoKeHUA:

Al Last | (to do) my home work.
| (not to see) you since spring.
| (to be) to the Crimea this summer.
We already (to translate) this text.
5. We (to pass) our examinations.
VI. UameHuTe rnaron- ckasyemoe 13 Present Perfect B Past Perfect no o6pasuy:

PwnNnpE

Ob6pasel;: The guests have already gathered (by the time he came).
The guest had already gathered by the time he came.

The delegation has arrived (by last Sunday).
The pupils have read this book (by last week).
Ann has done her lessons (by the time | came).
They have finished this work (by 5 o’clock yesterday).
5. She hasn’t yet bought a present for him (when he met her).
VIIl. MepeBeanTe AaHHbIE BblPaXKeHUS Ha PYCCKUM A3bIK:

Ll

1. the book- keeping department

2. financial and production operations

3. the paying out of the personnel

4. to issue monthly, quarterly and annual balance
5. the initial checks

6. to signs the contracts



7. the standard of accountancy work
8. to calculate wages, tracks the movement of materials, to issue accounts.

VIIl. NepeBegnte NpeanoXeHMa Ha aHIMUCKMA A3bIK, MOCTaBUB [aarosa- ckasyemoe B Future
Perfect Active:

1. Korpga Bbl npuaeTe, s y»Ke BbINOHIO AOMaLUHee 3agaHune (to do my homework)

2. K7 4acam mbl yKe npuaem Ha BOK3an.

3. Mbl y}Ke caaanm 3K3ameHbl (to pass exams) K TOMy MOMEHTY.

4. K 11 yacam et yx ycHyT (to fall asleep)

5. OHa y»Ke HanuweT KapTUHKY (to paint the picture) o Toro momeHTa, Kak OH npuaert.

IX. MoaobepuTte K aHIIMNCKUM C/IOBaM W3 /IEBON KOJIOHKM PYCCKUIA 3KBUBAJIEHT U3 MpPaBoW

KONOHKM:
1. chairman -yrnpaB/ieHMe KOMMNaHUEN
2. chief accountant -CTpaxoBaHue

3. shareholder -rnaBHbIM Byxrantep

4. insurance -npeacepatenb

5. board of directors -aKUMOHep

6.fax benefit -npeanpuaTue

7. enterprise -Ha/noroeas NbroTa

X. MNepenuwunTe 1 nepeBegmTe TEKCT:
Shops and Shopping

The face of the towns and villages in the Soviet Union is changing. We see new houses,
schools, cinemas and shops in every town. Shops are very important in our life.

There are different kinds of shops. Some of them sell bread. Others have tea, sugar, coffee,
butter, cheese, sausages, meat, fruit.

When we want to buy something, we take our shopping-bag and go to a shop. There we can
see shop-girls and shopmen who sell things.

Many people do their shopping at the market. There the collective-farm and state-farm
workers sell the vegetables and fruit which they grow themselves. They sell meat, milk and
other things too.



Large shops with many departments are department stores. In these stores we can buy almost
all we want. In the windows we see all the things which they sell there — food, suits, dresses,
coats, boots, shoes, radio and TV sets, and many other things.

XI. CocTtaBbTe onncaHne marasnHa n3 Ballero ropoga.



CneuuyanbHocTb: MexaHU3aLUA CeNbCKOro X03ACTBa.
KoHTponbHas paboTta Nel

BapunaHTt 1

. 3amoJjiHUTE MPONMYCKHU, BLIOPAB MOAXOASIIIUIA IJ1aroJ:
A—is; B—are
1. There ... a book on the desk.
2. There ... many flowers on the window-sill.
3. There ... amagazine and some newspapers on the little table.
4. ... there any shops near the house? No, there ... n't any.
5. There ... some apple-trees and one plum-tree in the garden.
6. There ... one girl and four boys in the classroom.
7. On the walls there ... many pictures.
8. There ... a cow, a pig, and a horse in the field.
9. There ... no children there.
10. ... there much snow in the yard? Yes, there ... a lot of snow everywhere.
Il. IIpono/kuTe BhICKa3bIBaHUS M0 00pa3my:
There is a teacher in the classroom, (many pupils)
There are many pupils in the classroom.
1. There is a little table in the corner (two armchairs).
2. There is a magazine on the little table (a few newspapers).
3. There is one book in his bag (some copybooks).
4. There is a key in my pocket (a few other things).
5. There is one tree near the house (some bushes).
6. There is a bus in the street (many cars).
I11. IIpeoGpa3yiiTe cienyrouye npeaioKeHUs1 B BONPOCUTeIbHbIE U 3aNMIIUTE UX.

1. There are two clouds in the sky.
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2. There is a river not far from the farm-house.
3. There are many animals in the field.

4. There are three horses in the field.

5. There are five sheep in the field.

6. There are fruit-trees in the garden.

1V. BbiGepuTe HYKHYIO OTPHLATENbHYIO (D)OPMY /LIS IJ1ar0JI0B, MPeodpa3oBaB
NpeaJioKeHUusl B OTPULATe/IbHbIE

A — don't; B— doesn't;
My brother (get up) early on Sundays.
| (watch) TV in the morning.
They (spend) much time in the language laboratory.
My friend (understand) grammar rules well.
My parents often (pass) the time in the country.
Pete (take part) in our concert.

V. Read and choose the right word

Friendship is very important in our life. Let me explain you why I think
so. Everybody needs someone who is 1)..... to your heart and way of
thinking. Your parents will always love you anyway because they are2) ....
And your friend just likes you; he wants to spend his time with you and he is
willing to help you when you need it.

My best friend’s name is Stepan. 3) ... is not my schoolmate. Stepan
lives next to 4)..and our parents are good friends. We first met on my
mom’s birthday party three years ago. Since then we see each other almost
every day.

Stepan is one year older. He is fond 5)... tennis very much. He plays
tennis since childhood and he even won some tournaments. Maybe once he
will become a professional player. Stepan is very clever, honest and friendly.
He likes to read books and 6)....films, that's why it’s always interesting to
talk to him. We usually discuss our favorite characters and most exciting
actions. Also we both like 7) ...the bicycle and to listen to music so we are
never bored together. I think it's very important to have common hobbies
with a friend. I'm happy to have such a good friend.

1 a) be b) close C

parents b) orders c) classmates

)
.a) ) )
. a) she b) him c) he
.a)m ) ) m

b) our C




5. a) of b) to

C) -

6. a) watch b) to see

c) to watching

7.a) to go b) to ride

c) to watch

VI. Choose the right variant

do/ don’t , does/doesn’t, is/isn‘t , are/aren’t,

, has/hasn’t

1. He's a vegetarian - He __ eat meat.

2. They want to write a test..

3. He some new CDs.

4. you from Russia?

5. you know this girl’s name?

6.1 like milk. And you?

7. My wife __ want to go to the country.

8. He ___ want to go to the cinema with us.

0. Stephanie go in for sports?

10. Where Chris and Mike? They
for work.

11. you got any brothers or sisters?
12. No, I __ got any sisters.

13. The book----yours, its mine.

14. My friend----- got any pets at home.

have/haven’t

usually late

VII.OnuwuTe BHEWHOCTb, YepThbl XapaKTepa Bawero apyra nan 6amskmx

NIOAEN HaA aHrN.a3bl




KoHTposbHasa pabota Nol

BapuaHT 2

L. ITepenumuTe npemioxenus. Onpenenurte GyHKIHIO r1aroia to be: a) cMbICIOBO# ri1arod; 0)
rj1aroji-CBsA3kKa B COCTaBHOM MMCHHOM CKa3yCMOM; B) BCIIOMOTAaTEIbHBIN IIaroi JJIL
obpaszoBanus Continuous Tense; T) BcrmoMorarensHBbIH 11arod ajst oopasoanus Passive Voice;
1) PKBUBAJICHT MOAAJIBHOT'O IJ1aroja Juis BEIpaKEHUs T0JDKeHCTBOBaHus. [lepeBenute
MPEUIOKEHUS ITMCbMEHHO Ha PYCCKUI S3BIK.

e Many automated control systems are to be introduced in industry.

» Radio broadcasting is a variety of radio communication in which the transmitted signals
are intended for a large number of listeners.

e These components are now in production.

e Oceans and seas are crossed by submarine cables.

« Highly reliable receivers are contributing to the successful operation on earth stations.

II. IepenummuTe npeanoxenus. Onpenenure GyHKIMIO Taarona to have : a/cMpicnoBoi
riarout; 6/BcriomorarebHbIHN riaron st oopasoBanus Perfect Tense ; B/skBUBaJIeHT
MOJIaJIbHOTO TJIarojia Jijisl BRIpaXXeHUs JOhKeHCTBOBaHus. [lepeBenuTe nmpeioxkeHus
MMCbMEHHO Ha PYCCKUH S3BIK.

e The voltage has to be very high if the wires are not thick.
« Many foreign scientists from different countries have visited our institute.
« Radio electronics in space communications has a great future.

II1. Tlepenumure npennoxenus. Onpeaenute GyHKIMIO riaroa to do: a/cMbICIOBOM
ryarout; 6/BcriomoraresbHbIi I71aroji B BONPOCUTENBHBIX U OTPUIATENbHBIX MPEATIOKCHUSX;
B/yCHJINTENb MOCIIEAYIOIIETo IJ1aroia; I/3aMeHnTeNb pepaynero riaaroia. [lepeseaure
NPEJI0KEHUS MTMCbMEHHO Ha PYCCKHH A3BIK.

These methods do improve the image quality.

« Do radioengineering and television find use in our national economy? Yes, they do.
e The computer did the work with lightning speed.

IV. IIpouyTtuTe ¥ NMCBMEHHO NEPEBENANUTE CAEAYIOIIHUMN TEKCT.

DEMONSTRATION OP COLOUB TELEVISION
The SECAM receiver which was demonstrated was operated from a fully encoded SECAM
signal of 625 lines, which employed frequency modulation of the subcarrier.

The SECAM signal is similar to the NTS C signal in that a luminance and two bandwidth limited
colour difference signals are used, together with a subcarrier. However, while NTSC is known to
use two subcarriers in phase quadrature, SECAM uses only one subcarrier which at any instant
carries only one of the difference signals. (Many advantages are gained by frequency, rather than
amplitude, modulation of the subcarrier). The SECAM encoder transmits red and blue difference
signals alternately at line rate - that is, during one line R - X is transmitted, during the next, B -
Y, and so on. At the receiver the subcarrier is demodulated by a conventional discriminator



whose output is either R - Y, or B - Y. In addition, the subcarrier is delayed by one line period
(64 sec) before being applied to a second f.m. discriminator whose output is therefore B - Y or R
-Y. Thus, while R - Y, for example, is being transmitted and received by a direct path, the B - Y
signal from the preceding line is available at the receiver from the delayed output. An electronic
switch at the receiver enables R - Y and B - Y to be presented to the display, and of course G - Y
can be derived from these.

SECAM has many advantages over HTSC, which can be indicated only very briefly here. Thus,
no reinsertion oscillator is required at the receiver, and while a long delay is necessary, this is
quite easily achieved by means of a fused silica block in which the signal is reflected from face
to face. Receiver circuits are therefore simplified and better stability can be obtained.

Additionally the SECAM subcarrier signal can be very easily handled by link systems, studio
switching processes, and monochrome video recorders, for it is not affected by phase or
amplitude distortions.



KoHTposbHasa paboTa N2
BAPUAHT Ne 1

L. ITepenumuTe npemioxenus. Onpenenure GyHKIUIO CIOB, OKAHYMUBAIOIIMXCS HA —Ing: a)
npuvacTre B QyHKIIMU onpeneeHus; 0) npuuactue B OyHKIMH 0OCTOSITENIbCTBA; B) IPUYACTHE,
BXOJsIee B cocTaB BpeMeHHo ¢popmbl Continuous; T) repyHauid. [lepeBenute nmpemioxxeHus Ha
PYCCKHH SI3BIK.

e The scope of scientific information is growing very fast.

e The system is capable of transmitting a large number of telephone calls.

« Conductors are materials having a low resistance so that currents easily pass through
them .

e Working with electricity it is important to be careful

Il. [Tepenumure npemtoxkeHus. OnpeneanTe, 4To IPeICTaBIIIOT co00k cioBa ¢ cyhdHKcoM —
ed: muunyro ¢popmy riarosna B Past Indefinite win npuvacTtue mporieaiero BpeMeHu B (yHKIIHH:
a) YacTH MPOCTOr0 CKa3yeMOT0, BEIPAXKEHHOT'O IJIaroJioM B CTpaJaTelIbHOM 3aJiore; 0) 4acTu
OTpeIeTICHUs, BEIPAXKEHHOTO MPUYACTHBIM 000POTOM; B) OIMIPEACIICHHUS, PACIIOJIOKEHHOTO TIEpe/T
ompezensieMbiM coBoM. [lepeBenuTe npeasioxkeHns MMCbMEHHO Ha PYCCKUHN SI3BIK.

« Radio navigation is a method of piloting aircraft and ships with the help of radio
telegraph and radio telephone signals radiated by ground radio stations.

o Radio telegraph signals can be reproduced with the help of a telephone receiver.

e The power of the received signals is usually very low.

« Science and technology achieved great progress in space research,

III. IlepenummuTe U nepeBeIUTe MUCBMEHHO HA PYCCKUH A3BIK NPEITIOKEHHUE.
o The lower the resistance of a material, the more current capass through it.

IV. IIpoutute u niepeBeauTe CIEAYIOIUIUN TEKCT.
COLOUR TELEVISION

Colour television is the transmission and reception of images in full colour. A colour
television system can provide for the reception of both colour (on colour receivers) and black
and white (on monochrome receivers) programs. Colour receivers can also receive monochrome
pictures when they are transmitted.

Colour transmission contains two basic components — brightness information and colour
information. It is red, green and blue that are chosen for colour TV transmission.

Colour television signals can be transmitted over the same distance as monochrome television
signals since for their transmission the same radio frequency carrier range is used.

A colour television receiver consumes more power than a black-and-white receiver, it is more
complex and requires more qualified servicing. It is practically impossible to convert a black-
and-white receiver to receive colour programmes. On the contrary, if a colour television receiver
is tuned to the frequency of a monochrome transmitter, it reproduces monochrome transmissions.



BAPUAHT Ne 2
L. ITepenumuTe npemioxenus. Onpenenure GyHKIUIO CIOB, OKAHUYMBAIOIIMXCS HA -ing: a)
npuvacTre B QyHKIIMU ONpeieeHus; 0) mpuuactrue B PyHKIIMU 00CTOSATEIHCTBA; B) IPUYACTHE,
BXOJIsIIee B cocTaB BpeMeHHou ¢opmbl Continuous ; r) repynauii. [lepeBeaure npeanoxeHus
Ha PYCCKUH SI3bIK.

e Since electrical telegraph communication began in 1837, there have bean developed
many machines using various codes.

e Passing through a conductor the current heats it.

e This is a sorting machine which can be used for parcel sorting.

e The scope of research is growing year after year.

II. [Tepenumute npennoxenus. OnpeneauTe, 4To MPEICTaBIIOT CO00i ciioBa ¢ cyphHUKCOM -
ed: muunyto ¢popmy riarona B Past Indefinite wim npuyactue npomieamniero BpeMeHu B QyHKIUU:
a) 4YaCTH MPOCTOT0 CKa3yeMOro, BEIPAKEHHOTO IJIarojioM B CTPalaTeIbHOM 3ajiore; 0) 4acTu
OTpeIeTICHUS, BEIPAXKEHHOTO MPUYACTHBIM 000POTOM; B) OIIPEACIICHHS, PACIIOIOKEHHOTO TIepe/
omnpezensieMbiM cioBoM. [lepeBenuTe npeaioKeHusi MMCbMEHHO Ha PYCCKUI S3BIK.

e These experiments provided data necessary for the completion of our research.

e The unusual state of matter at very low temperatures was called superconductivity.

e The modulated signals, emitted by the transmitting aerial as electromagnetic waves,
propagate in space with the speed of light.

e They used instruments of improved design.

I1I. IlepenummuTe npeyioKEHNE U NEPEBEAUTE €T0 IMCbMEHHO HA PYCCKHUM S3BIK.
The hotter the conductor, the greater its resistance.
IV. I[IpouTtuTe 1 nepeBennuTe CIETYIOMNNA TEKCT.

RECEIVER CHARACTERISTICS. RADIO RECEIVERS
Sensitivity determines the minimum signal strength to which the receiver will respond. It is
measured quantitatively in terms of the input voltage or power required to give a standard output.
Therefore, the receiver with the smallest value of this input is the most sensitive.
Selectivity is the degree to which the receiver is capable of differentiating between the desired
signal and signals of other carrier frequencies. Selectivity depends on the design of the receiver,

on its antenna and ground, on the quality of the material.

Stability of a receiver is its ability «to stay» on a signal under varying conditions of gain-control
setting, temperature, supply-voltage changes and mechanical shock and distortion.

Detection is the process of recovering the modulation from a signal. Any device that is
«nonlinear» (i.e. whose output is not proportional to its input) will act as a detector.

Every radio receiver, no matter how complex it may be, consists of only four essential parts.
They are:

the aerial-ground system, which collects the radio waves;

the tuner, which selects the radio waves (or stations) to be received and rejects all others;



the detector, which changes the energy of the radio wave to a form whereby it can operate the
reproducer;

the reproducer, the device which changes the energy of the radio waves to a form which our
Senses can perceive.

This holds true for all receiving sets, from the simplest crystal set to the most complex television
receiver, everything else in the receiver being merely a refinement of these four essential parts.

BAPUAHT Ne 3
L. [MepenumuTe npemioxenus. Onpenenure GyHKIUIO CIIOB, OKAHYMBAIOIIUXCS Ha-ing: a)
npuyacTie B QyHKIUH OTpeesieHus; 0) mprudacTue B GyHKIIMH 00CTOSTENBCTBA; B) IPHYACTHE,
BXOJIsIIee B cocTaB BpeMeHHou ¢opmbl Continuous; 1) repyHauii. [lepeBenute mpeuioxkeHus Ha
PYCCKHH SI3BIK.

*The cost of sending a telegram depends on the number of
words in it.

*The atmospheric humidity is one of the most important
factors influencing radio reception.

*Using this machine we raised labour productivity.

*Research programmes are becoming more and more complex
year after year.

II. [Tepenumute npeanoxenus. OnpeaeanTe, 4To MPEACTaBIAIOT cO00ii clioBa ¢ CyPHUKCOM -
ed: mnunyro ¢popmy rimarona B Past indefinite wim npuyacTie mpomieamero BpeMeHH B QyHKIIUHN:
a) 4acTH MPOCTOr0 CKa3yeMOT0, BEIPAXKEHHOTO IJ1arojioM B CTpaJaTesIbHOM 3ayore; 0) 4acTu
oTpefieNieHus], BRIPAXKEHHOTO MPUYACTHBIM 000POTOM; B) OMPEIEICHUS, PACTIONOKEHHOTO TIEPeT
oTpeieNiieMbIM clIoBOM. [lepeBenuTe mpeayioKeHNs MMCbMEHHO Ha PYCCKUU S3BIK.

e Inatransmitter signals may be modulated in amplitude, frequency or phase.
o Scientists proposed a. new method to study these phenomena.

o The value of voltage applied to the input determines the output voltage.

e The number of required channels depends on the number of users.

[II. ITepenummTe NpeaIoKEHUS U IEPEBEAUTE €TI0 MMCbMEHHO HA PYCCKUM S3BIK.

The more satellites scientists launch into space, the easier it will be to assemble orbital
observatories.

V. HpO‘{TI/ITC 1 MUCbMCHHO IMEPCBCIUTEC CJ'ICI[yIOIJ_II/Iﬁ TCKCT.

FROM THE HISTORY OF TELEPHONY
The telephone was invented in 1876. The construction of the first telephone was very simple: a
wire with a ground provided the connection.

Later development of the telephone changed its construction, it became more complex.
Transmitters and receivers were separated and auxiliary elements were used in its circuit to
provide for the better transmission of speech.

The need to connect any two of a large number of telephone sets led to the development of a
switchboard in 1878, the advantage of a central switching office with a switchboard was very



great. It was in 1889 that telephone sets were first interconnected automatically. Further
development improved the switching system and made it more complex. Central offices grew in
number.

Nowadays central offices are connected to long-distance offices by connecting trunks; long-
distance offices are, in turn interconnected by intercity trunks. Most countries of the world use
dial switching systems both for local and intercity service.

BAPUAHT Ne 4

L. IlepenumuTe npemioxenus. Onpenennure GyHKIUIO CIOB, OKAHUYMBAIOIIMXCS HA -ing: a)
npuvacTre B GyHKIIMU ONpeeeHus; 0) mpuuactrue B PyHKIIMU 00CTOSATEIHCTBA; B) IPUYACTHE,
BXOJIsIIee B cocTaB BpeMeHHou rpynnsl Continuous; 1) repynauid. [lepeBenute npenioxenus
Ha PYCCKUH SI3bIK.

o Telegraphy is a method of transmitting messages over a distance by means of electrical
impulses sent through wires.

e A magnetic field is surrounding any wire carrying electric current.

e High sensitivity of a radio reciever depends upon the amplifying properties of all the
reciever stages.

e Using this device we obtained better results.

II. ITepenumute npeanoxenus. OnpeaeanTe, 4To MPeACTaBIIAIOT co00MH citoBa ¢ cyddukcom ed:
TUYHY0 GopMy riarojia B past Indefinite nimu nmpudactue mpomreaero BpeMeHy B QyHKIUH: a)
YaCTH MTPOCTOTO CKa3yeMOr0, BEIPAKCHHOTO TJIar0JIOM B CTPAIaTeIIbHOM 3JI0Te; 0) YacTH
OIIPEICIICHUS, BBIPAXXCHHOTO IMPHYACTHBIM 000POTOM; B) OIPEIEIICHUS, PACIIOIOKEHHOTO TIepe/T
ompezeNseMbIM clIoBoM. [lepeBenuTe nmpeyioKeHHs MMCbMEHHO Ha PYCCKUU S3BIK.

e The telegraph set constructed by Morse was the first set intended for practical use.
« A low-frequency amplifier is intended for amplification of electrical oscillations.
« Michael Faraday discovered induced electric current.

e Integrated circuits are widely used nowadays.

[II. ITepenumuTe ¥ nepeBeANTE MUCHbMEHHO HA PYCCKHUM SA3BIK MPEJIOKEHUE.

e The larger the number of electrons in a metal, the greater its conductivity.
IV. IIpoutuTe U MUCHMEHHO MEPEBEAUTE CIAEAYIOLIUNA TEKCT.

RECEIVER CHARACTERISTICS. RADIO RECEIVERS

Classification. Radio receivers may be classified according to their operating principles: 1) tuned
radio frequency; 2) regenerative; 3) superheterodyne; 4) superregenerative.
Tuned-radio-frequency receivers (t-r-f) are those which obtain their selectivity and r-f
amplification merely through the use of selective circuits and tubes which function at the

frequency of the incoming signal.

Regenerative receivers have many limitations and there - fore they have largely passed out of
use.

In the superheterodyne receiver the signal voltage is combined with a local oscillator voltage and
converted into a new signal with the same modulation but a lower («intermediate») carrier



frequency, which is then amplified and detected to reproduce the original modulation. The
superheterodyne has the essential components of a t-r-f receiver, and in addition it has a
frequency converter and an i-f amplifier. The frequency converter consists of an oscillator and a
modulator. The oscillator and the t-r-f circuits are usually tuned simultaneously by means of a
gang capacitor or a gang inductor.

The advantages of the superheterodyne make it the most suitable type for the great majority of
radio services.

BAPHUAHT Ne §
L. Ilepenummnte npeanoxenus. Onpenenute GYHKIHUIO CIIOB, OKAHYMBAIOIINXCS HA -INQ: a)
npuvacTre B QyHKIIMU ONpeecHus; 0) mpuyactue B QyHKIIMH OOCTOSITEIILCTBA; B) IPUYACTHE,
BXOJsIIee B cocTaB BpeMeHHoH ¢opmbl Continuous; 1) repyaauii. [lepeBenute nmpeioxkeHus Ha
PYCCKHH SI3BIK.

e The non-conducting material separating the plates is called dielectric.

o Frequency-modulation presents an affective way of increasing the signal-to-noise rate at
the receiver.

e We are always trying to improve the quality of the transmitted signal.

« Flowing through a conductor the alternating current reverses its direction at regular
intervals.

II. [Tepenuumute npeaioxenus. OnpeaeanTe, 4To MPEACTaBIIAIOT CO00H clloBa ¢ CypPUKCOM -
ed: mmunyro ¢popmy rinarona B Past Indefinite niau npudactue npomeaero BpeMeHy B QyHKITUH:
a) 4acTH MPOCTOr0 CKa3yeMOT0, BEIPAXKEHHOIO IJIaroJioM B CTPaJaTesIbHOM 3ajore; 0) 4acTu
OIIPEICIICHUS, BBIPAXXCHHOTO IMPHYACTHBIM 000POTOM; B) OIPEIEIICHUS, PACIIOIOKEHHOTO TIepe/T
ompezeNsseMbIM cloBoM. [lepeBenuTe mpeayiokeHns MMCbMEHHO Ha PYCCKUU SI3BIK.

o Sensitivity is measured in microvolts.

« Radio equipment installed in aircraft operates under very difficult conditions.
o Radio transmitters usually radiate modulated signals.

o Satellites established communications with mobile objects.

[II. ITepenumuTe ¥ nepeBeANTE MUCHbMEHHO HA PYCCKHUM SA3BIK MPEJIOKEHUE.
e The larger the area of the ground antenna, the better the system.

IV. IIpouyTuTe 1 NMCBMEHHO NEPEBEANTE CIACTYOLINN TEKCT.

A typical communication satellite has a number of transponders or repeaters, each provides a
channel of information. Every transponder consists of a receiver tuned to a channel, or range, of
frequencies lying in the uplink band of frequencies; a frequency shifter to lower the received
microwaves to a downlink range of frequencies, and a power amplifier to produce an adequate
microwave output power. The number of channels indicates the communication capacity of a
satellite. Usually, one channel can carry a colour television signal or 1,200) telephone voice
signals in one direction.

Electromagnetic waves are attenuated in passing through the ionosphere and the lower
atmosphere. It is because of this that for satellite communication with Earth stations only low
microwave frequencies are suitable. Three major frequency bands have been assigned for
satellite communication. Bach band is used for an uplink (Earth-to-satellite) and a downlink



(satellite-to-Earth station path.) The lower frequency is chosen for the more difficult downlink
path because rain and atmospheric attenuation are less at lower frequencies.



CneumanbHOCTb: TeXHUYecKoe 06cnyKnuBaHMe U PeMOHT aBTOTPaHCNopTa.
KoHTponbHas paboTta Nel

BapunaHTt 1

. 3amoyiHuTe NpONMyCKH, BLIOPAB MOAXOASAIINI IJ1aroJ:

8.

9.

A—is; B— are

. There ... a book on the desk.

. There ... many flowers on the window-sill.

. There ... amagazine and some newspapers on the little table.
. ... there any shops near the house? No, there ... n't any.

. There ... some apple-trees and one plum-tree in the garden.

. There ... one girl and four boys in the classroom.

. On the walls there ... many pictures.

There ... a cow, a pig, and a horse in the field.

There ... no children there.

10. ... there much snow in the yard? Yes, there ... a lot of snow everywhere.

1. IlpogoszkuTe BhICKAa3bIBAHUSA MO 00pa3Ily:

There

There

is a teacher in the classroom, (many pupils)

are many pupils in the classroom.

1. There is a little table in the corner (two armchairs).

2. There is a magazine on the little table (a few newspapers).
3. There is one book in his bag (some copybooks).

4. There is a key in my pocket (a few other things).

5. There is one tree near the house (some bushes).

6. There is a bus in the street (many cars).

I11. IIpeoGpa3yiiTe cieayrouue npeajioKeHUs B BONPOCUTeIbHbIE U 3aIMILIUATE UX.

1.

There are two clouds in the sky.
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2. There is a river not far from the farm-house.
3. There are many animals in the field.

4. There are three horses in the field.

5. There are five sheep in the field.

6. There are fruit-trees in the garden.

V. BpiGepuTe HYKHYIO OTPHLATEIbHYIO ()OPMY /1JIsI TJ1ar0JIOB, IPe00pa3oBaB
NpeaJioKeHUusl B OTPULATe/IbHbIE

A — don't; B— doesn't;
My brother (get up) early on Sundays.
| (watch) TV in the morning.
They (spend) much time in the language laboratory.
My friend (understand) grammar rules well.
My parents often (pass) the time in the country.
Pete (take part) in our concert.

V. Read and choose the right word

Friendship is very important in our life. Let me explain you why I think
so. Everybody needs someone who is 1)..... to your heart and way of
thinking. Your parents will always love you anyway because they are2) ....
And your friend just likes you; he wants to spend his time with you and he is
willing to help you when you need it.

My best friend’s name is Stepan. 3) ... is not my schoolmate. Stepan
lives next to 4)..and our parents are good friends. We first met on my
mom’s birthday party three years ago. Since then we see each other almost
every day.

Stepan is one year older. He is fond 5)... tennis very much. He plays
tennis since childhood and he even won some tournaments. Maybe once he
will become a professional player. Stepan is very clever, honest and friendly.
He likes to read books and 6)....films, that's why it’s always interesting to
talk to him. We usually discuss our favorite characters and most exciting
actions. Also we both like 7) ...the bicycle and to listen to music so we are
never bored together. I think it's very important to have common hobbies
with a friend. I'm happy to have such a good friend.

1. a) be b) close C) near

2. a) parents b) orders c) classmates
3. a) she b) him c) he

4. a) my b) our c) me




5. a) of b) to

C) -

6. a) watch b) to see

c) to watching

7.a) to go b) to ride

c) to watch

VI. Choose the right variant

do/ don’t , does/doesn’t, is/isn‘t , are/aren’t,

, has/hasn’t

1. He's a vegetarian - He __ eat meat.

2. They want to write a test..

3. He some new CDs.

4. you from Russia?

5. you know this girl’s name?

6.1 like milk. And you?

7. My wife __ want to go to the country.

8. He __ want to go to the cinema with us.

9. Stephanie go in for sports?

10. Where Chris and Mike? They
for work.

11. you got any brothers or sisters?
12. No, I __ got any sisters.

13. The book----yours, its mine.

14. My friend----- got any pets at home.

have/haven’t

usually late

VII.OnuwuTe BHEWHOCTb, YepThbl XapakKTepa Bawero apyra unm 6am3kmx

NIOAEN HaA aHrN.a3bl




KoHTposbHasa pabota Nol

BapuaHT 2

L. ITepenumuTe npemioxenus. Onpenenurte GyHKIHIO r1aroia to be: a) cMbICIOBO# ri1arod; 0)
rj1aroji-CBsA3kKa B COCTaBHOM MMCHHOM CKa3yCMOM; B) BCIIOMOTAaTEIbHBIN IIaroi JJIL
obpazoBanus Continuous Tense; T) BcmoMorarenbHBIi T1aroi ajs oopasoBanus Passive Voice;
1) PKBUBAJICHT MOJAAJIBHOT'O IJ1aroja Juis BEIpaXKEHUs T0JKCHCTBOBaHus. [lepeBenute
MPEUIOKEHUS ITMCbMEHHO Ha PYCCKUI S3BIK.

e Many automated control systems are to be introduced in industry.

o Radio broadcasting is a variety of radio communication in which the transmitted signals
are intended for a large number of listeners.

e These components are now in production.

e Oceans and seas are crossed by submarine cables.

o Highly reliable receivers are contributing to the successful operation on earth stations.

II. IepenummuTe npeanoxxenus. Onpenenure GyHKIUIO Taaroia to have : a/cMbICIOBOI I1arod;
O/BCcrioMoraTepHBIN TIIaroi s oopasoBanus Perfect Tense ; B/3KBUBaJICHT MOAAILHOTO
TJIaroJia Jiisl BBIpKEHHsI TOJDKEHCTBOBaHU. [lepeBeuTe mpeyioskeHUs MIMCbMEHHO Ha PYCCKHI
SA3BIK.

e The voltage has to be very high if the wires are not thick.
« Many foreign scientists from different countries have visited our institute.
« Radio electronics in space communications has a great future.

II1. Tlepenummure npeninoxenus. Onpeaenute GyHKIMIO riaroa to do: a/cMbICTIOBOM IJ1aroit;
6/BcrioMorartesbHbIi I71aroj B BONPOCUTENBHBIX U OTPUIATENbHBIX MPEATIOKEHUSX; B/yCHINTENb
HOCJIEAYIOILETO TJIaroja; I/3aMeHUTENb IpeablIyIiero riarona. [lepeseanTe npeanoxeHus
NUCbMEHHO Ha PYCCKUH S3BIK.

These methods do improve the image quality.

« Do radioengineering and television find use in our national economy? Yes, they do.
e The computer did the work with lightning speed.

IV. IlpoutHTe ¥ NMCBMEHHO MEPEBEINUTE CIAEAYIOIIMUMN TEKCT.

DEMONSTRATION OP COLOUB TELEVISION
The SECAM receiver which was demonstrated was operated from a fully encoded SECAM
signal of 625 lines, which employed frequency modulation of the subcarrier.

The SECAM signal is similar to the NTS C signal in that a luminance and two bandwidth limited
colour difference signals are used, together with a subcarrier. However, while NTSC is known to
use two subcarriers in phase quadrature, SECAM uses only one subcarrier which at any instant
carries only one of the difference signals. (Many advantages are gained by frequency, rather than
amplitude, modulation of the subcarrier). The SECAM encoder transmits red and blue difference
signals alternately at line rate - that is, during one line R - X is transmitted, during the next, B -
Y, and so on. At the receiver the subcarrier is demodulated by a conventional discriminator



whose output is either R - Y, or B - Y. In addition, the subcarrier is delayed by one line period
(64 sec) before being applied to a second f.m. discriminator whose output is therefore B - Y or R
-Y. Thus, while R - Y, for example, is being transmitted and received by a direct path, the B - Y
signal from the preceding line is available at the receiver from the delayed output. An electronic
switch at the receiver enables R - Y and B - Y to be presented to the display, and of course G - Y
can be derived from these.

SECAM has many advantages over HTSC, which can be indicated only very briefly here. Thus,
no reinsertion oscillator is required at the receiver, and while a long delay is necessary, this is
quite easily achieved by means of a fused silica block in which the signal is reflected from face
to face. Receiver circuits are therefore simplified and better stability can be obtained.

Additionally the SECAM subcarrier signal can be very easily handled by link systems, studio
switching processes, and monochrome video recorders, for it is not affected by phase or
amplitude distortions.



KoHTposbHasa paboTa No2

BAPUAHT Ne 1

L. [lepenuiute npemioxenus. Onpenenure GyHKIUIO CI0B, OKAHYUBAIOIIMXCS Ha —Ing: a)
npuyacTie B QyHKIHUK onpeaeneHus; 0) npudactue B DyHKIIMK 00CTOSTETHCTBA; B) IPUYACTHE,
BXOJIslIIee B cOCTaB BpeMeHHOil popmbl Continuous; 1) repynauid. [lepeBenure npeanoxxkeHus Ha
PYCCKHH SI3BIK.

e The scope of scientific information is growing very fast.

e The system is capable of transmitting a large number of telephone calls.

« Conductors are materials having a low resistance so that currents easily pass through
them .

o Working with electricity it is important to be careful

Il. [Tepenumure npemanokenus. OnpeneauTe, 4To IPeICTaBIsIIOT co00k cioBa ¢ cyhdHHKcoM —
ed: muunyro ¢popmy raarosa B Past Indefinite wiu npudacTre npoineamniero BpeMeH: B GyHKIIHH:
a) YacTH MPOCTOr0 CKa3yeMOT0, BEIPAXKEHHOT'O IJIaroJioM B CTpaJaTelIbHOM 3aJiore; 0) 4acTu
OTpeIeTICHUs, BEIPAXKEHHOTO MPUYACTHBIM 000POTOM; B) OIMIPEACIICHHUS, PACIIOJIOKEHHOTO TIEpe/T
ompezenseMbiM coBoM. [lepeBenuTe npeasiokeHnus MMCbMEHHO Ha PYCCKUM SI3BIK.

« Radio navigation is a method of piloting aircraft and ships with the help of radio
telegraph and radio telephone signals radiated by ground radio stations.

o Radio telegraph signals can be reproduced with the help of a telephone receiver.

e The power of the received signals is usually very low.

« Science and technology achieved great progress in space research,

III. IlepenummuTe U nepeBeIUTe MUCBMEHHO HA PYCCKUH A3BIK NPEITIOKEHHUE.
o The lower the resistance of a material, the more current capass through it.

IV. IlpoyTtute U nepeBeauTe CAEAYIOIIMMA TEKCT.
COLOUR TELEVISION

Colour television is the transmission and reception of images in full colour. A colour
television system can provide for the reception of both colour (on colour receivers) and black
and white (on monochrome receivers) programs. Colour receivers can also receive monochrome
pictures when they are transmitted.

Colour transmission contains two basic components — brightness information and colour
information. It is red, green and blue that are chosen for colour TV transmission.

Colour television signals can be transmitted over the same distance as monochrome television
signals since for their transmission the same radio frequency carrier range is used.

A colour television receiver consumes more power than a black-and-white receiver, it is more
complex and requires more qualified servicing. It is practically impossible to convert a black-
and-white receiver to receive colour programmes. On the contrary, if a colour television receiver
is tuned to the frequency of a monochrome transmitter, it reproduces monochrome transmissions.



BAPUAHT Ne 2
L. ITepenumuTe npemioxenus. Onpenenure GyHKIUIO CIOB, OKAHUYMBAIOIIMXCS HA -ing: a)
npuvacTre B QyHKIIMU ONpeieeHus; 0) mpuuactrue B PyHKIIMU 00CTOSATEIHCTBA; B) IPUYACTHE,
BXOJIsIIee B cocTaB BpeMeHHoi ¢opmbl Continuous ; r) repynauii. [lepeBeaure npeioxxeHus
Ha PYCCKUH SI3bIK.

« Since electrical telegraph communication began in 1837, there have bean developed
many machines using various codes.

e Passing through a conductor the current heats it.

e This is a sorting machine which can be used for parcel sorting.

e The scope of research is growing year after year.

II. [Tepenumute npennoxenus. OnpeneanuTe, 4To MPEACTABIAIOT cO00i ciioBa ¢ cyphHUKCOM -
ed: muunyto ¢popmy riarona B Past Indefinite wim npuyactue npomieamniero BpeMeHu B QyHKIUU:
a) YaCTH MPOCTOT0 CKa3yeMOro, BEIPAKEHHOTO IJIarojioM B CTPaiaTelbHOM 3ajiore; 0) 4acTu
OTpeIeTICHUs, BEIPAXKEHHOTO MPUYACTHBIM 000POTOM; B) OMIPEACIICHHS, PACIIONIOKEHHOTO TIepe/
omnpezensieMbiM cioBoM. [lepeBenuTe npeaioKeHusi MMCbMEHHO Ha PYCCKUI S3BIK.

o These experiments provided data necessary for the completion of our research.

e The unusual state of matter at very low temperatures was called superconductivity.

e The modulated signals, emitted by the transmitting aerial as electromagnetic waves,
propagate in space with the speed of light.

e They used instruments of improved design.

I1I. IlepenummuTe npeyIoKEHNUE U IEPEBEIUTE €TI0 NUCbMEHHO HA PYCCKUM S3BIK.
The hotter the conductor, the greater its resistance.
IV. [IpouTuTe 1 nepeBeAUTE CIEIYIOMINNA TEKCT.

RECEIVER CHARACTERISTICS. RADIO RECEIVERS
Sensitivity determines the minimum signal strength to which the receiver will respond. It is
measured quantitatively in terms of the input voltage or power required to give a standard output.
Therefore, the receiver with the smallest value of this input is the most sensitive.
Selectivity is the degree to which the receiver is capable of differentiating between the desired
signal and signals of other carrier frequencies. Selectivity depends on the design of the receiver,

on its antenna and ground, on the quality of the material.

Stability of a receiver is its ability «to stay» on a signal under varying conditions of gain-control
setting, temperature, supply-voltage changes and mechanical shock and distortion.

Detection is the process of recovering the modulation from a signal. Any device that is
«nonlinear» (i.e. whose output is not proportional to its input) will act as a detector.

Every radio receiver, no matter how complex it may be, consists of only four essential parts.
They are:

the aerial-ground system, which collects the radio waves;

the tuner, which selects the radio waves (or stations) to be received and rejects all others;



the detector, which changes the energy of the radio wave to a form whereby it can operate the
reproducer;

the reproducer, the device which changes the energy of the radio waves to a form which our
Senses can perceive.

This holds true for all receiving sets, from the simplest crystal set to the most complex television
receiver, everything else in the receiver being merely a refinement of these four essential parts.

BAPUAHT Ne 3
L. [MepenumuTe npemioxenus. Onpenenure GyHKIUIO CIIOB, OKAHYMBAIOIIUXCS Ha-ing: a)
npuyacTie B QyHKIUH OTpeesieHus; 0) mprudacTue B GyHKIIMH 00CTOSTENBCTBA; B) IPHYACTHE,
BXOJIsIee B cocTaB BpeMeHHOU ¢opmbl Continuous; 1) repyrnuii. [lepeBenure nmpemioxkeHus Ha
PYCCKHH SI3BIK.

*The cost of sending a telegram depends on the number of
words in it.

*The atmospheric humidity is one of the most important
factors influencing radio reception.

*Using this machine we raised labour productivity.

*Research programmes are becoming more and more complex
year after year.

II. [Tepenumute npeanoxenus. OnpeaeanTe, 4To MPEACTaBIAIOT cO00ii clioBa ¢ CyPHUKCOM -
ed: mnunyro ¢popmy rimarona B Past indefinite wim npuyacTie mpomieamero BpeMeHH B QyHKIIUHN:
a) 4acTH MPOCTOr0 CKa3yeMOT0, BEIPAXKEHHOTO IJIaroJioM B CTPaAaTeIbHOM 3aJiore; 0) 4acTh
oTpefieNieH s, BRIPAXKEHHOTO MPUYACTHBIM 000POTOM; B) OMPENIEICHHUS, PACTIONIOKEHHOTO TIepe]
oTpeieNiieMbIM clIoBOM. [lepeBenuTe mpeayioKeHNs MMCbMEHHO Ha PYCCKUU S3BIK.

e Inatransmitter signals may be modulated in amplitude, frequency or phase.
o Scientists proposed a. new method to study these phenomena.

o The value of voltage applied to the input determines the output voltage.

e The number of required channels depends on the number of users.

III. IlepenumuTe NpeaioKeHUs U IEPEBEIUTE €r0 MUCBMEHHO Ha PYCCKUM S3bIK.

The more satellites scientists launch into space, the easier it will be to assemble orbital
observatories.

V. HpO‘{TI/ITC 1 MUCbMCHHO IMEPCBCIUTEC CJ'ICI[yIOIJ_II/Iﬁ TCKCT.

FROM THE HISTORY OF TELEPHONY
The telephone was invented in 1876. The construction of the first telephone was very simple: a
wire with a ground provided the connection.

Later development of the telephone changed its construction, it became more complex.
Transmitters and receivers were separated and auxiliary elements were used in its circuit to
provide for the better transmission of speech.

The need to connect any two of a large number of telephone sets led to the development of a
switchboard in 1878, the advantage of a central switching office with a switchboard was very



great. It was in 1889 that telephone sets were first interconnected automatically. Further
development improved the switching system and made it more complex. Central offices grew in
number.

Nowadays central offices are connected to long-distance offices by connecting trunks; long-
distance offices are, in turn interconnected by intercity trunks. Most countries of the world use
dial switching systems both for local and intercity service.

BAPUAHT Ne 4
I. ITepenumute npeyioxenus. Onpenennure GyHKIUIO CI0B, OKAHUMBAIOLIMXCS Ha -Ing: a)
npuyactue B QyHKIMH onpenenenus; 0) npuyactie B GyHKIMU 0OOCTOSATENBCTBA; B) IPUYACTHE,
BXOJi1lee B cocTaB BpeMeHHoH rpynnsl Continuous; ) repynauii. [lepeBenute npeaioxenus
Ha PYCCKHUH A3BIK.

o Telegraphy is a method of transmitting messages over a distance by means of electrical
impulses sent through wires.

e A magnetic field is surrounding any wire carrying electric current.

« High sensitivity of a radio reciever depends upon the amplifying properties of all the
reciever stages.

e Using this device we obtained better results.

1. Tlepenummte npeiokeHus. OnpeaenuTe, 4To MPeACTaBISIOT co00it cioBa ¢ cypdurcom ed:
nuaHyIo ¢popmy rinaroia B past Indefinite wim nmpuuactre npomieamero BpeMeHu B QyHKINU: a)
YaCTH MPOCTOr'0 CKA3yeMOT0, BEIPAYKEHHOTO TJIar0JIOM B CTPAIaTEIbHOM 3ajiore; 0) yacTu
OTIpe/IeNICHUs], BRIPAXKCHHOTO TIPUYACTHBIM 000POTOM; B) ONIPEICIICHHUS, PACIIONIOKEHHOTO TIEPEe/T
orpeneNsieMbIM CIOBOM. [lepeBenTe npeioxKeHuss MUCbMEHHO Ha PYCCKUMN SI3BIK.

o The telegraph set constructed by Morse was the first set intended for practical use.
A low-frequency amplifier is intended for amplification of electrical oscillations.
Michael Faraday discovered induced electric current.

Integrated circuits are widely used nowadays.

III. IlepenummuTe U nepeBeIUTe MUCBMEHHO HAa PYCCKUH A3BIK NPEITIOKEHHUE.
o The larger the number of electrons in a metal, the greater its conductivity.

IV. IIpoyTuTe 1 NMCBMEHHO NEPEBEANTE CIACTYOLINN TEKCT.

RECEIVER CHARACTERISTICS. RADIO RECEIVERS
Classification. Radio receivers may be classified according to their operating principles: 1) tuned
radio frequency; 2) regenerative; 3) superheterodyne; 4) superregenerative.

Tuned-radio-frequency receivers (t-r-f) are those which obtain their selectivity and r-f
amplification merely through the use of selective circuits and tubes which function at the
frequency of the incoming signal.

Regenerative receivers have many limitations and there - fore they have largely passed out of
use.

In the superheterodyne receiver the signal voltage is combined with a local oscillator voltage and
converted into a new signal with the same modulation but a lower («intermediate») carrier
frequency, which is then amplified and detected to reproduce the original modulation. The



superheterodyne has the essential components of a t-r-f receiver, and in addition it has a
frequency converter and an i-f amplifier. The frequency converter consists of an oscillator and a
modulator. The oscillator and the t-r-f circuits are usually tuned simultaneously by means of a
gang capacitor or a gang inductor.

The advantages of the superheterodyne make it the most suitable type for the great majority of
radio services.

BAPHUAHT Ne §
L. ITepenumuTe npemioxenus. Onpenenure GyHKIUIO CIOB, OKAHUYMBAIOMIMXCS HA -ing: a)
npuvacTre B QyHKIIMU ONpeeeHus; 0) mpuuactue B QYHKIIMH OOCTOSITEIBCTBA; B) IPUYACTHE,
BXOJsIIee B cocTaB BpeMeHHoH ¢opmbl Continuous; 1) repyaauii. [lepeBenute nmpemioxxeHus Ha
PYCCKHH SI3BIK.

e The non-conducting material separating the plates is called dielectric.

« Frequency-modulation presents an affective way of increasing the signal-to-noise rate at
the receiver.

e We are always trying to improve the quality of the transmitted signal.

« Flowing through a conductor the alternating current reverses its direction at regular
intervals.

II. [Tepenuumute npeanoxenus. OnpeaeanTe, 4To MPEACTaBIIAIOT CO00H clloBa ¢ Cy(pPUKCOM -
ed: mnunyro ¢popmy rinarona B Past Indefinite niau npudactue npoieaiero BpeMeHu B QyHKITUH:
a) 4acTH MPOCTOr0 CKa3yeMOT0, BEIPAXKEHHOIO IJIaroJioM B CTPaAaTesIbHOM 3ayiore; 0) 4acTu
OIIPEIEIICHUS, BRIPAXXCHHOTO IIPHYACTHBIM 000POTOM; B) OIPEIEIICHUS, PACIIOJIOKEHHOTO TIepe/T
ompezeNsseMbIM clioBoM. [lepeBenuTe mpeayiokeHns MMCbMEHHO Ha PYCCKUU SI3BIK.

o Sensitivity is measured in microvolts.

« Radio equipment installed in aircraft operates under very difficult conditions.
o Radio transmitters usually radiate modulated signals.

o Satellites established communications with mobile objects.

[II. ITepenumuTe ¥ nepeBeANTE MUCHbMEHHO HA PYCCKHUM SA3BIK MPEJIOKEHUE.
e The larger the area of the ground antenna, the better the system.

IV. IIpouyTuTe 1 NMCBMEHHO NEPEBEANTE CIACTYIOLINN TEKCT.

A typical communication satellite has a number of transponders or repeaters, each provides a
channel of information. Every transponder consists of a receiver tuned to a channel, or range, of
frequencies lying in the uplink band of frequencies; a frequency shifter to lower the received
microwaves to a downlink range of frequencies, and a power amplifier to produce an adequate
microwave output power. The number of channels indicates the communication capacity of a
satellite. Usually, one channel can carry a colour television signal or 1,200) telephone voice
signals in one direction.

Electromagnetic waves are attenuated in passing through the ionosphere and the lower
atmosphere. It is because of this that for satellite communication with Earth stations only low
microwave frequencies are suitable. Three major frequency bands have been assigned for
satellite communication. Bach band is used for an uplink (Earth-to-satellite) and a downlink
(satellite-to-Earth station path.) The lower frequency is chosen for the more difficult downlink
path because rain and atmospheric attenuation are less at lower frequencies.



CneuymnanbHOCTb: 3eMeyCTPOMNCTBO.
KoHTponbHan pabota Nel

BapuaHTt 1

. 3amoJjiHUTE MPONMYCKHU, BLIOPAB MOAXOASIIIUIA IJ1aroJ:
A—is; B—are
1. There ... a book on the desk.
2. There ... many flowers on the window-sill.
3. There ... amagazine and some newspapers on the little table.
4. ... there any shops near the house? No, there ... n't any.
5. There ... some apple-trees and one plum-tree in the garden.
6. There ... one girl and four boys in the classroom.
7. On the walls there ... many pictures.
8. There ... a cow, a pig, and a horse in the field.
9. There ... no children there.
10. ... there much snow in the yard? Yes, there ... a lot of snow everywhere.
I1. IIponoJkuTe BhICKa3bIBAHUS MO 00pa3ny:
There is a teacher in the classroom, (many pupils)
There are many pupils in the classroom.
1. There is a little table in the corner (two armchairs).
2. There is a magazine on the little table (a few newspapers).
3. There is one book in his bag (some copybooks).
4. There is a key in my pocket (a few other things).
5. There is one tree near the house (some bushes).
6. There is a bus in the street (many cars).
I11. IIpeoGpa3yiiTe cieayrouue npeajioKeHUs B BONPOCUTeIbHbIE U 3aNIMILIUATE UX.

1. There are two clouds in the sky.
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2. There is a river not far from the farm-house.
3. There are many animals in the field.

4. There are three horses in the field.

5. There are five sheep in the field.

6. There are fruit-trees in the garden.

V. BbiGepuTe HYKHYIO OTPHLATENbHYIO (D)OPMY LIS IJ1ar0JI0B, MPeodpa3oBaB
NpeaJioKeHUusl B OTPULATe/IbHbIE

A — don't; B— doesn't;

My brother (get up) early on Sundays.
| (watch) TV in the morning.
They (spend) much time in the language laboratory.
My friend (understand) grammar rules well.
My parents often (pass) the time in the country.
Pete (take part) in our concert.

V. Read and choose the right word

Friendship is very important in our life. Let me explain you why I think
so. Everybody needs someone who is 1)..... to your heart and way of
thinking. Your parents will always love you anyway because they are2) ....
And your friend just likes you; he wants to spend his time with you and he is
willing to help you when you need it.

My best friend’s name is Stepan. 3) ... is not my schoolmate. Stepan
lives next to 4)..and our parents are good friends. We first met on my
mom’s birthday party three years ago. Since then we see each other almost
every day.

Stepan is one year older. He is fond 5)... tennis very much. He plays
tennis since childhood and he even won some tournaments. Maybe once he
will become a professional player. Stepan is very clever, honest and friendly.
He likes to read books and 6)....films, that’s why it's always interesting to
talk to him. We usually discuss our favorite characters and most exciting
actions. Also we both like 7) ...the bicycle and to listen to music so we are
never bored together. I think it's very important to have common hobbies
with a friend. I'm happy to have such a good friend.

1. a) be b) close C) near

2. a) parents b) orders c) classmates
3. a) she b) him c) he

4. a) my b) our c) me




5. a) of b) to

C) -

6. a) watch b) to see

c) to watching

7.a) to go b) to ride

c) to watch

VI. Choose the right variant

do/ don’t , does/doesn’t, is/isn‘t , are/aren’t,

, has/hasn’t

1. He's a vegetarian - He __ eat meat.

2. They want to write a test..

3. He some new CDs.

4. you from Russia?

5. you know this girl’s name?

6.1 like milk. And you?

7. My wife __ want to go to the country.

8. He __ want to go to the cinema with us.

0. Stephanie go in for sports?

10. Where Chris and Mike? They
for work.

11. you got any brothers or sisters?
12. No, I got any sisters.

13. The book----yours, its mine.

14. My friend----- got any pets at home.

have/haven’t

usually late

VII.OnuwuTe BHEWHOCTb, YepThbl XapakKTepa Bawero apyra unm 6am3kmx

NIOAEN HaA aHrN.a3bl




KoHTponbHas pabota Nel

BapuaHT 2

L. ITepenumuTe npemioxenus. Onpenenurte GyHKIHIO r1aroia to be: a) cMbICIOBO# ri1arod; 0)
TJ1aroji-CBs3Ka B COCTaBHOM UMCHHOM CKa3yCMOM; B) BCIIOMOTAaTEIILHBIN IJ1aroi JJISL
obpazoBanus Continuous Tense; T) BcrmoMorarensHbIH r1arod ajist oopasosanust Passive Voice;
1) 9KBUBAJICHT MOJAJILHOTO TJIarojia Juis BEIpaXKECHUs TOJDKEHCTBOBaHuUs. [lepeBenuTe
NPE/IOKEHUS IMChbMEHHO Ha PYCCKHM SI3BIK.

e Many automated control systems are to be introduced in industry.

o Radio broadcasting is a variety of radio communication in which the transmitted signals
are intended for a large number of listeners.

e These components are now in production.

e Oceans and seas are crossed by submarine cables.

o Highly reliable receivers are contributing to the successful operation on earth stations.

II. IepenummuTe npeanoxenus. Onpenenure GyHKIUIO Tiaaroia to have : a/cMbIcioBoi
riarout; 6/BcriomorarebHbIHN riaron st oopasoBanus Perfect Tense ; B/skBUBaJIeHT
MOJIaJIbHOTO TJIarojia Jijisl BRIpaXKEHUs JoJKeHCTBOBaHUs. [lepeBenuTe mpeioxkeHus
MMCbMEHHO Ha PYCCKUH S3BIK.

e The voltage has to be very high if the wires are not thick.
« Many foreign scientists from different countries have visited our institute.
« Radio electronics in space communications has a great future

II1. Tlepenumure npennoxenus. Onpeaenute GyHKIMIO riaroa to do: a/cMbICIOBOM
ryarout; 6/BcriomoraresbHbIi I71aroji B BONPOCUTENBHBIX U OTPUIATENbHBIX MPEATIOKCHUSX;
B/yCHJINTENb MOCIIEAYIOIIETo IJ1aroia; I/3aMeHnTeNb pepaynero riaaroia. [lepeseaure
NPEJI0KEHUS MTMCbMEHHO Ha PYCCKHM S3BIK.

These methods do improve the image quality.

« Do radioengineering and television find use in our national economy? Yes, they do.
e The computer did the work with lightning speed.

IV. IlpoutHTe ¥ MMCBMEHHO MEPEBEINUTE CIEAYIOIIMMI TEKCT.
DEMONSTRATION OP COLOUB TELEVISION
The SECAM receiver which was demonstrated was operated from a fully encoded SECAM
signal of 625 lines, which employed frequency modulation of the subcarrier.

The SECAM signal is similar to the NTS C signal in that a luminance and two bandwidth limited
colour difference signals are used, together with a subcarrier. However, while NTSC is known to
use two subcarriers in phase quadrature, SECAM uses only one subcarrier which at any instant
carries only one of the difference signals. (Many advantages are gained by frequency, rather than
amplitude, modulation of the subcarrier). The SECAM encoder transmits red and blue difference
signals alternately at line rate - that is, during one line R - X is transmitted, during the next, B -
Y, and so on. At the receiver the subcarrier is demodulated by a conventional discriminator
whose output is either R - Y, or B - Y. In addition, the subcarrier is delayed by one line period



(64 sec) before being applied to a second f.m. discriminator whose output is therefore B - Y or R
- Y. Thus, while R - Y, for example, is being transmitted and received by a direct path, the B - Y
signal from the preceding line is available at the receiver from the delayed output. An electronic

switch at the receiver enables R - Y and B - Y to be presented to the display, and of course G - Y
can be derived from these.

SECAM has many advantages over HTSC, which can be indicated only very briefly here. Thus,
no reinsertion oscillator is required at the receiver, and while a long delay is necessary, this is
quite easily achieved by means of a fused silica block in which the signal is reflected from face
to face. Receiver circuits are therefore simplified and better stability can be obtained.

Additionally the SECAM subcarrier signal can be very easily handled by link systems, studio
switching processes, and monochrome video recorders, for it is not affected by phase or
amplitude distortions.



KoHTposbHasa paboTa N2

BAPHUAHT Ne 1

L. [lepenuiute npemioxenus. Onpenenure GyHKIUIO CI0B, OKAHYUBAIOIIMXCS Ha —Ing: a)
npuyacTie B QyHKIHUK onpeaeneHus; 0) npudactue B DyHKIIMK 00CTOSTETHCTBA; B) IPUYACTHE,
BXOJIslIIee B cOCTaB BpeMeHHOil popmbl Continuous; 1) repyHauid. [lepeBenure npeasioxxkeHus Ha
PYCCKHH SI3BIK.

e The scope of scientific information is growing very fast.

e The system is capable of transmitting a large number of telephone calls.

« Conductors are materials having a low resistance so that currents easily pass through
them .

e Working with electricity it is important to be careful

Il. [Tepenumure npemtokerus. OnpeneauTe, 4To IPEICTaBIIIOT co00ii ciioBa ¢ cyphuKcom
—ed: muunyro ¢popmy riarona B Past Indefinite miu npuuactre mpomieamnero BpeMeHu B
(YHKIMH: a) YaCTH MPOCTOTO CKa3yeMOro, BRIPAXKEHHOTO TJIarojioM B CTPaIaTeIbHOM
3aiore; 0) 4acTH OINpPECIICHHS, BRIPAXKEHHOTO TPUYACTHBIM 000POTOM; B) ONIPEICTCHUS,
PacCIoI0KEHHOT0 Mepe1 onpeeasieMbiM clIoBoM. [lepeBenute npeayioxkeHnss TMCbMEHHO Ha
PYCCKUU A3BIK.

« Radio navigation is a method of piloting aircraft and ships with the help of radio
telegraph and radio telephone signals radiated by ground radio stations.

o Radio telegraph signals can be reproduced with the help of a telephone receiver.

o The power of the received signals is usually very low.

e Science and technology achieved great progress in space research,

[II. ITepenumuTe ¥ nepeBeANTE MUCHbMEHHO HA PYCCKHUM SA3BIK MPEJIOKECHUE.
e The lower the resistance of a material, the more current capass through it.

IV. IlpouTtute 1 nepeBenuTe CAEAYIOMMMI TEKCT.
COLOUR TELEVISION

Colour television is the transmission and reception of images in full colour. A colour
television system can provide for the reception of both colour (on colour receivers) and black
and white (on monochrome receivers) programs. Colour receivers can also receive monochrome
pictures when they are transmitted.

Colour transmission contains two basic components — brightness information and colour
information. It is red, green and blue that are chosen for colour TV transmission.

Colour television signals can be transmitted over the same distance as monochrome television
signals since for their transmission the same radio frequency carrier range is used.

A colour television receiver consumes more power than a black-and-white receiver, it is more
complex and requires more qualified servicing. It is practically impossible to convert a black-
and-white receiver to receive colour programmes. On the contrary, if a colour television receiver
is tuned to the frequency of a monochrome transmitter, it reproduces monochrome transmissions.



BAPUAHT Ne 2
I. [lepenumute npemioxenus. Onpenenure GyHKINIO CI0B, OKAHYMBAIOIINXCS HA -ing: a)
npuyYacTre B QyHKIMH ONpeesieHus; 0) mprudacTue B GyHKIIMH 0OCTOSTENBCTBA; B) IPUYACTHE,
BXOJIslIIee B cOCTaB BpeMeHHOil popmbl Continuous ; T) repyHauii. [lepeBeaute npeanoxxeHus
Ha PYCCKHUH A3BIK.

e Since electrical telegraph communication began in 1837, there have bean developed
many machines using various codes.

e Passing through a conductor the current heats it.

e This is a sorting machine which can be used for parcel sorting.

e The scope of research is growing year after year.

II. [Tepenumute npeanoxenus. OnpeaeanTe, 4To MPEACTaBIIAIOT cO00ii clioBa ¢ CyPHUKCOM -
ed: muunyto ¢popmy riuarona B Past Indefinite nim npruactue mporeaiiero BpeMeH! B QyHKITUH:
a) 4acTH MPOCTOr0 CKa3yeMOT0, BEIPAXKEHHOIO IJIaroJioM B CTPaAaTeIbHOM 3aJiore; 0) 4acTu
OIIPEICIICHUS, BRIPAXXCHHOTO IMPHYACTHBIM 000POTOM; B) ONIPEIEIICHUS, PACIIONIOKEHHOTO TIEpe/]
ompeeseMbIM clIoBoM. [lepeBenuTe mpeIoKeHHs TMCEMEHHO HA PYCCKHI SI3BIK.

o These experiments provided data necessary for the completion of our research.

e The unusual state of matter at very low temperatures was called superconductivity.

o The modulated signals, emitted by the transmitting aerial as electromagnetic waves,
propagate in space with the speed of light.

e They used instruments of improved design.

I1I. IlepenummuTe NpeaIoKeHUE U MEPEBEIUTE €r0 MUCbMEHHO HA PYCCKHI SI3bIK.
The hotter the conductor, the greater its resistance.
IV. IIpoutuTe 1 nepeBeAUTE CAEAYIOMUI TEKCT.

RECEIVER CHARACTERISTICS. RADIO RECEIVERS
Sensitivity determines the minimum signal strength to which the receiver will respond. It is
measured quantitatively in terms of the input voltage or power required to give a standard output.
Therefore, the receiver with the smallest value of this input is the most sensitive.
Selectivity is the degree to which the receiver is capable of differentiating between the desired
signal and signals of other carrier frequencies. Selectivity depends on the design of the receiver,

on its antenna and ground, on the quality of the material.

Stability of a receiver is its ability «to stay» on a signal under varying conditions of gain-control
setting, temperature, supply-voltage changes and mechanical shock and distortion.

Detection is the process of recovering the modulation from a signal. Any device that is
«nonlinear» (i.e. whose output is not proportional to its input) will act as a detector.

Every radio receiver, no matter how complex it may be, consists of only four essential parts.
They are:

the aerial-ground system, which collects the radio waves;



the tuner, which selects the radio waves (or stations) to be received and rejects all others;

the detector, which changes the energy of the radio wave to a form whereby it can operate the
reproducer;

the reproducer, the device which changes the energy of the radio waves to a form which our
Senses can perceive.

This holds true for all receiving sets, from the simplest crystal set to the most complex television
receiver, everything else in the receiver being merely a refinement of these four essential parts.

BAPUAHT Ne 3
L. ITepenumuTe npemioxenus. Onpenenure GyHKIUIO CIOB, OKAHYMBAIOIIUXCS Ha-ing: a)
npuvacTre B QyHKIIMU ONpeeeHus; 0) mpuyactrue B PyHKIIMU 00CTOSATEIHCTBA; B) IPUYACTHE,
BXOJsIIee B cocTaB BpeMeHHoH ¢opmbl Continuous; 1) repyrauii. [lepeBenure nmpemuioxxeHus Ha
PYCCKUH SA3BIK.

*The cost of sending a telegram depends on the number of
words in it.

*The atmospheric humidity is one of the most important
factors influencing radio reception.

*Using this machine we raised labour productivity.

*Research programmes are becoming more and more complex
year after year.

1. Tlepenummte npeiokeHus. OnpeaenuTe, YTo MPEACTABISIOT COO0H clloBa ¢ cypPUKCOM -
ed: muunyto ¢popmy riarona B Past indefinite v nmpudacTue mporeanero BpeMeHH B (PYHKIIHH:
a) 4aCTH MPOCTOTO CKa3yeMOTr0, BBRIPAXKCHHOTO IJIarojioM B CTPaIaTeIbHOM 3aJI0Te; 0) YacTH
OTIpeIeIICHNs, BBIPAKCHHOTO MPHYACTHBIM 000POTOM; B) OINPEIEIICHUS, PACTIONIOKEHHOTO TIepe/T
oTpeneNsieMbIM CIIOBOM. [lepeBeiuTe NpeioKeHNs MUCBMEHHO Ha PYCCKUM SI3bIK.

o Inatransmitter signals may be modulated in amplitude, frequency or phase.
« Scientists proposed a. new method to study these phenomena.

o The value of voltage applied to the input determines the output voltage.

e The number of required channels depends on the number of users.

I1I. IlepenummTe NpeyIoKEHN U IEPEBEUTE €r0 MUCbMEHHO Ha PYCCKUM S3bIK.

The more satellites scientists launch into space, the easier it will be to assemble orbital
observatories.

IV. IlpouTuTe M MUCEMEHHO TIEPEBEIUTE CICTYIONTUNA TEKCT.

FROM THE HISTORY OF TELEPHONY
The telephone was invented in 1876. The construction of the first telephone was very simple: a
wire with a ground provided the connection.

Later development of the telephone changed its construction, it became more complex.
Transmitters and receivers were separated and auxiliary elements were used in its circuit to
provide for the better transmission of speech.

The need to connect any two of a large number of telephone sets led to the development of a



switchboard in 1878, the advantage of a central switching office with a switchboard was very
great. It was in 1889 that telephone sets were first interconnected automatically. Further
development improved the switching system and made it more complex. Central offices grew in
number.

Nowadays central offices are connected to long-distance offices by connecting trunks; long-
distance offices are, in turn interconnected by intercity trunks. Most countries of the world use
dial switching systems both for local and intercity service.

BAPUAHT Ne 4
I. [lepenumute npemioxenus. Onpenenante GyHKIUIO CI0B, OKAHYMBAIOIINXCS HA -ing: a)
npuyacTie B PyHKIUH OTpeesieHus; 0) mprudacTue B QyHKIIMH 0OCTOSTEIBCTBA; B) IPUYACTHE,
BXOJISlIIee B COCTaB BpeMeHHOi rpynnsl Continuous; r) repynauii. [lepeBenure npeaioxeHus
Ha PYCCKHUH A3BIK.

o Telegraphy is a method of transmitting messages over a distance by means of electrical
impulses sent through wires.

e A magnetic field is surrounding any wire carrying electric current.

« High sensitivity of a radio reciever depends upon the amplifying properties of all the
reciever stages.

e Using this device we obtained better results.

1. Tlepenumute npeiokeHus. OnpeaenuTe, 4To MPEACTaBISIOT co00it cioBa ¢ cypdurcom ed:
aaHyto popmy riarosia B past Indefinite wiau npuuactre nmpomieaniero BpeMeH! B QYHKITUH: a)
YaCTH MPOCTOr'0 CKA3yeMOT0, BEIPAYKEHHOTO TJIar0JIOM B CTPAIaTEIbHOM 3ajiore; 0) yacTu
OTIpe/IeNICHUs], BRIPQXKCHHOTO TIPUYACTHBIM 000POTOM; B) ONIPEICIICHHUS, PACIIONIOKEHHOTO TIEPEe/T
ompezensieMbIM coBoM. [lepeBennTe mpeioKeHnst MUCbMEHHO Ha PYCCKUM S3BIK.

o The telegraph set constructed by Morse was the first set intended for practical use.
A low-frequency amplifier is intended for amplification of electrical oscillations.
Michael Faraday discovered induced electric current.

Integrated circuits are widely used nowadays.

III. IlepenummuTe U nepeBeIUTe MUCBMEHHO HAa PYCCKUH A3BIK NPEITIOKEHHUE.

o The larger the number of electrons in a metal, the greater its conductivity.
IV. IIpouyTuTe 1 NMCBMEHHO NEPEBEANTE CIACAYOIINN TEKCT.

RECEIVER CHARACTERISTICS. RADIO RECEIVERS

Classification. Radio receivers may be classified according to their operating principles: 1) tuned
radio frequency; 2) regenerative; 3) superheterodyne; 4) superregenerative.
Tuned-radio-frequency receivers (t-r-f) are those which obtain their selectivity and r-f
amplification merely through the use of selective circuits and tubes which function at the

frequency of the incoming signal.

Regenerative receivers have many limitations and there - fore they have largely passed out of
use.

In the superheterodyne receiver the signal voltage is combined with a local oscillator voltage and



converted into a new signal with the same modulation but a lower («intermediate») carrier
frequency, which is then amplified and detected to reproduce the original modulation. The
superheterodyne has the essential components of a t-r-f receiver, and in addition it has a
frequency converter and an i-f amplifier. The frequency converter consists of an oscillator and a
modulator. The oscillator and the t-r-f circuits are usually tuned simultaneously by means of a
gang capacitor or a gang inductor.
The advantages of the superheterodyne make it the most suitable type for the great majority of
radio services.

BAPUAHT Ne 5
I. Tlepenumute npeanoxenus. Onpenenure GyHKIHMIO CIOB, OKAHUYMBAIOIIMXCS HA -Ing: a)
npuyacTue B QyHKIUU OmpeesieHus; 0) mprudacTie B QyHKIIUU 00CTOSITENLCTBA; B) MPUYACTHE,
BXOJIs11Iee B cocTaB BpeMeHHou (opmbr Continuous; r) repyrauii. [lepeBenure npeioxeHus Ha
PYCCKHH SI3BIK.

e The non-conducting material separating the plates is called dielectric.

o Frequency-modulation presents an affective way of increasing the signal-to-noise rate at
the receiver.

e We are always trying to improve the quality of the transmitted signal.

« Flowing through a conductor the alternating current reverses its direction at regular
intervals.

II. IepenummTe npeanoxenus. Onpeaenure, 4To MPeACTaBISAIOT co00i cioBa ¢ cyddukcom -
ed: muunyto ¢popmy riarona B Past Indefinite nnu mpudactue mpomeanero BpeMeHu B (YHKITUU:
a) 4YaCTH MPOCTOT0 CKAa3yeMOr0, BEIPAKEHHOTO IJIarojioM B CTpalaTeIbHOM 3ajiore; 0) 4acTu
OTpeIeTICHUs, BEIPAXKEHHOTO MPUYACTHBIM 000POTOM; B) OIMIPEACIICHHUS, PACIIOJIOKEHHOTO TIEpet
ompezensieMbiM cioBoM. [lepeBenuTe npeasioxkeHus MUCbMEHHO Ha PYCCKHM A3BIK.

o Sensitivity is measured in microvolts.

o Radio equipment installed in aircraft operates under very difficult conditions.
o Radio transmitters usually radiate modulated signals.

o Satellites established communications with mobile objects.

III. IlepenummuTe U nepeBeIUTe MUCEMEHHO HA PYCCKUH A3BIK IIPEIUIOKEHUE.
e The larger the area of the ground antenna, the better the system.

IV. IIpoutuTe M MUCBMEHHO MEPEBEAUTE CIAEAYIOIINUN TEKCT.

A typical communication satellite has a number of transponders or repeaters, each provides a
channel of information. Every transponder consists of a receiver tuned to a channel, or range, of
frequencies lying in the uplink band of frequencies; a frequency shifter to lower the received
microwaves to a downlink range of frequencies, and a power amplifier to produce an adequate
microwave output power. The number of channels indicates the communication capacity of a
satellite. Usually, one channel can carry a colour television signal or 1,200) telephone voice
signals in one direction.

Electromagnetic waves are attenuated in passing through the ionosphere and the lower
atmosphere. It is because of this that for satellite communication with Earth stations only low
microwave frequencies are suitable. Three major frequency bands have been assigned for
satellite communication. Bach band is used for an uplink (Earth-to-satellite) and a downlink
(satellite-to-Earth station path.) The lower frequency is chosen for the more difficult downlink
path because rain and atmospheric attenuation are less at lower frequencies.



